
Division: Decimal Numbers (G-2)
SOLUTIONS

Name:

Time: Score: /

173) 3 2 7 3 5.2

− 2 4 9

7 8 3

− 7 4 7

3 6 5

− 3 3 2

3 3 2

− 3 3 2

0

: 8 3 = 3 9 4.4 174) 1 2.2 8 5 9

− 9 9

2 3 8

− 2 3 1

7 5

− 6 6

9 9

− 9 9

0

: 0.3 3 = 3 7.2 3

175) 2 1 4 0 6.5

− 2 1 3

1 0

− 0

1 0 6

− 7 1

3 5 5

− 3 5 5

0

: 7.1 = 3 0 1 5 176) 1 2 7.4 7 1

− 1 1 4

1 3 4

− 1 3 3

1 7

− 0

1 7 1

− 1 7 1

0

: 1.9 = 6 7.0 9

177) 3 6 9 4.5 8

− 3 5 4

1 5 4

− 1 1 8

3 6 5

− 3 5 4

1 1 8

− 1 1 8

0

: 5 9 = 6 2.6 2 178) 3.9 1 1

− 3

0 9

− 9

0 1

− 1

0 1

− 1

0

: 0.1 = 3 9.1 1

179) 1 9.6 7 4 5

− 1 9 0

6 7

− 0

6 7 4

− 6 6 5

9 5

− 9 5

0

: 0.9 5 = 2 0.7 1 180) 1 9 8 7 2

− 1 9 2

6 7

− 6 4

3 2

− 0

3 2 0

− 3 2 0

0

: 6.4 = 3 1 0 5

181) 1 5 9 8 8 0

− 1 4 0

1 9 8

− 1 7 5

2 3 8

− 2 1 0

2 8 0

− 2 8 0

0

: 3 5 = 4 5 6 8 182) 1 1 3.2 4

− 7 6

3 7 2

− 3 0 4

6 8 4

− 6 8 4

0

: 7.6 = 1 4.9

Mathematics: Division - Level 6b - German division - Set 2 43 © workulum.com

https://www.workulum.com

